#296:贫富差距的原因和解决方法
The gap between rich and poor is becoming wider, the rich richer, the poor even poorer. What has caused this problem and how to solve this problem?
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Income inequality has become a severe problem in some societies. I believe that this problem is attributed to the lack of educational opportunities and business opportunities among disadvantaged people. The government should take action to address the underlying cause of poverty. 
The widening wealth gap has become a growing problem in some societies. Understanding the causes of this issue can help find solutions to improve the situation. 
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学生的范文（7+）
The widening wealth gap has become a growing problem in some societies. Understanding the causes of this issue can help find solutions to improve the situation.
 
A  财富再分配不够好 B 富人可以不断赚钱，穷人没有什么机会 C 贫富差距越来越大
解释（A-B）：税收制度不够好，富人大部分的收入可以保持住，富人再投资
解释（A-B）：没有获得国家的帮助，生活成本高，剩下的钱很少
举例：，获得教育,想创业，但是没钱
The wealth disparity has become serious since the government does not have policies in place to achieve effective income redistribution. The country may not have fair tax policies, so the upper class can retain the majority of their income and reinvest their wealth in different projects to create substantial returns. In contrast, the state does not provide sufficient financial support, such as low-cost medical care and transportation, to the working class; therefore, disadvantaged people have limited disposable income after paying for living expenses. This means that they have no money to pursue a degree for better job opportunities or to set up a business to increase earnings, even though they spot a valuable opportunity. This is why low-income groups are unable to keep pace with the wealthiest members of society.
 
 
A 福利更好 B穷人会减少生活成本 C 贫富差距减少
背景：富人要交更多税
解释（A-B）：少花钱在孩子的学费上，交通，水电，医疗上
解释（B-C）：学习新的技能，购买房子，做一些投资
 
To narrow the wealth gap, the best method is possibly to increase the expenditure on public services. This requires the government to impose a higher income tax on the rich people and gain more financial resources, thereby providing subsidies for the provision of education, transportation, utilities and healthcare. The low-income people can reduce the spending on these expenses, and have more spare money. They can use their savings to acquire job skills to improve employment prospects, buy their own home to maintain the buying power of their money, and make investments to maximise wealth.
 
In conclusion, taxation policies may be the primary cause of economic divide and the main solution to this problem is to implement a tax reform and require the affluent to pay more tax. 
